Mark-free Pad/High Rigidity ZP2 Series
Mounting Bracket Assembly

Adapter Assembly
Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no.
ZPA-T1-B8 ZP2-40H(CL/NT/FT) ZPA-T1-BO1 ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT) ZPA-T1-NO1 ZP2-50H(CL/NT/FT)
ZPA-T1-B10 ZP2-3050HW ZPA-T1-TO1 ZP2-3050HW
Width across flats 24 A, Width across flats 19 1/8 (Rc, NPT, NPTF)
: ~ o ¥ [_ 3
© w | N« P m14 x 1
- 3xM3x0.5 ’ J
018, | ——
2 N~
228 = = 23|
Dimensions Width across flats 19 SxM3x0.5
Part no. A 218
ZPA-T1-B8 M8 x 1.25 228
ZPA-T1-B10 | M10x 1.5
* With three M3 bolts # With three M3 bolts
Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no.
ZPA-T2-B8 ZPA-T2-BO1
ZP2-63H(CL/NT/FT)
ZPA-T2-B10 ZP2-63H(CL/NT/FT) ZPA-T2-NoO1 ZP2-80H(CL/NT/FT)
ZPA-T2-B12 ZP2-80H(CL/NT/FT) ZPA-T2-TO1
ZPA-T2-B16
A .
Width across flats 37 — o Width across flats 22 1/8 (Rc, NPT, NPTF)
| N
‘ =
i | o & @ B
- 4xM4x0.7 - . M16 x1.5
034 ~ N
245 Dimensions ||
Part no. A o] © 28 0
- — N~
ZPA-T2-B8 M8 x 1.25 -
ZPA-T2-B10 | M10x15 4xM4x0.7
ZPA-T2-B12 | M12x1.75 Width across flats 24 234 |
ZPA-T2-B16 | M16x 1.5 045
# With four M4 bolts x With four M4 bolts
Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no.
T ZPA-T3-BO1
ZPA-T3-B12 ZP2-100H(CL/NT/FT) ZPA-T3-NO1 ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT) ZP2-125H(CL/NT/FT)
ZPA-T3-B16 ZPA-T3-TO1
Width across flas 60 A Width across flats 22 1/8 (Re, NPT, NPTF)
To)
; ©
‘Qi NS T
T (LQ © ™ 3
4xM5x0.8 Q © S M16x1.5
040 & ¢ |
70
28 | %
Dimensions Width across flats 24 4xM5x0.8
Part no. A 540
ZPA-T3-B12 | M12x 1.75 -
ZPA-T3-B16 | M16x15 270

+ With four M5 bolts

+ With four M5 bolts

® 255



Mark-free Pad/High Rigidity .
Mounting Bracket Assembly ZP 2 Series

c
gz
=3

(72}

Adapter Assembly S e
Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no. 'g .g
ZPA-X1-B01-B8 ZPA-X3-B01-B10 ¢%§
ZPA-X1-N01-B8 ZPA-X3-N01-B10 5 §

Y1701 ZP2-40H(CL/NT/FT) Y2. 1701
ZPA-X1-T01-B8 252 50HCLNTIFT) ZPA-X3-T01-B10 ZP2-100H(CL/NT/FT)
ZPA-X1-B01-B10 ZP2-3050HW ZPA-X3-B01-B12 ZP2-125H(CL/NT/FT)
ZPA-X1-N01-B10 ZPA-X3-N01-B12
ZPA-X1-T01-B10 ZPA-X3-T01-B12

=

£S
1/8 (Re, NPT, NPTF) A _ 1/8 (Rc, NPT,NPTF) A 3
Lo
= = <
()]
o e 7 ¢ g
<o © g 1]
© ~ sV =
N o [/ ¢ 2
u‘,:)/ 3xM3x 05 Width across flats 21 (L‘J 4 x M5 X 0.8 [r—
Width across flats 21 23 | 240 | s
018 270 L
o
Dimensions Dimensions 5
Part no. A Part no. A z
ZPA-X1-101-B8 M8 x 1.25 ZPA-X3-1101-B10 | M10x 1.5 ,
ZPA-X1-101-B10 | M10x 1.5 ZPA-X3-[101-B12 | M12x 1.75 o
* With three M3 bolts * With four M5 bolts 2
o
Q.
Adapter assembly part no. Applicable pad part no. n
ZPA-X2-B01-B10 —
c
ZPA-X2-N01-B10 52
~ O
ZPA-X2-T01-B10 ZP2-63H(CL/NT/FT) 25
ZPA-X2-B01-B12 ZP2-80H(CL/NT/FT) £ 3
ZPA-X2-N01-B12 __
ZPA-X2-T01-B12 g2
[~
52
1/8 (Rc, NPT, NPTF)  A_ —
g,
— -]
1—¢ » E
P He 3
¥ v T} —
g i E
2
i ﬁj 4xM4x0.7 §
Width across flats 21 034
045
Dimensions
Part no. A -
ZPA-X2-1101-B10 | M10x 1.5 S
ZPA-X2-(101-B12 | M12x 1.75 §

+ With four M4 bolts

256




Mark-free Pad/High Rigidity .
Mounting Bracket Assembly ZP2 Series

Buffer Assemb'y { + Refer to page 343 for nut tightening torque.]
Buffer assembly part no. Applicable pad part no.
Buffer body Width across flats 14 ZP2-40H(CL/NT/FT)

(Material: Aluminum alloy)

ZPB-T1J25-B01

ZPB-T1J25-N01

ZPB-T1J25-T01

ZPB-T1J50-B01

ZPB-T1J50-N01

ZPB-T1J50-T01

ZPB-T1J75-B01

ZPB-T1J75-N01

ZPB-T1J75-T01

Width across flats 27

1/8 (Rc, NPT, NPTF)

To]
o
[aV]
ol
L{) ::
A L
@ __|
M18 x 1.5
< e
N~
,“_)- 23
C — 3xM3x0.5
018
028

ZP2-50H(CL/NT/FT)

ZP2-3050HW
Dimensions
Part no. A B

ZPB-T1J25-101 40 | 107

ZPB-T1J50-101 75 | 142

ZPB-T1J75-0001 | 111|178

* With three M3 bolts

Buffer assembly part no.

Buffer body
(Material: Aluminum alloy)

ZPB-T2J25-B01

ZPB-T2J25-N01

ZPB-T2J25-T01

ZPB-T2J50-B01

ZPB-T2J50-N01

ZPB-T2J50-T01

ZPB-T2J75-B01

ZPB-T2J75-N01

ZPB-T2J75-T01

Width across flats 14
Width across flats 27

1/8 (Rc, NPT, NPTF)

0
& /
M)
| =
®l =
@ |
M18x 1.5
< 1 |
0
~
[To]
- 23 4xM4x0.7
034
045

Applicable pad part no.

ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

Dimensions

Part no. A B

ZPB-T2J25-101 40| 107

ZPB-T2J50-101 75 | 142

ZPB-T2J75-0001 | 111|178

* With four M4 bolts

Buffer assembly part no.

Buffer body
(Material: Aluminum alloy)

ZPB-T3J25-B01

ZPB-T3J25-N01

ZPB-T3J25-T01

ZPB-T3J50-B01

ZPB-T3J50-N01

ZPB-T3J50-T01

ZPB-T3J75-B01

ZPB-T3J75-N01

ZPB-T3J75-T01

ZPB-T3J100-B01

ZPB-T3J100-NO1

ZPB-T3J100-TO1

Width across flats 17
Width across flats 30

1/8 (Re, NPT, NPTF)

% ilil
o| ®© 3
O ©
@
M22 x 1.5
<
[To]
©
(ap]
o4 4xM5x0.8
240
070

Applicable pad part no.

ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

Dimensions

Part no. A B

ZPB-T3J25-101 44 | 131

ZPB-T3J50-101 80 | 167

ZPB-T3J75-0001 | 120 | 207

ZPB-T3J100-0101 | 155 | 242

* With four M5 bolts

® 257




Buffer Assembly

Mark-free Pad/High Rigidity
Mounting Bracket Assembly

ZP2 Series

Model
Selection

{ * Refer to page 343 for nut tightening torque.]

Buffer assembly part no.

Buffer body Buffer body

(Material: Brass)

(Material: Structural steel)

ZPB-T1JB25-B01

ZPB-T1JF25-B01

ZPB-T1JB25-N01

ZPB-T1JF25-N01

ZPB-T1JB25-T01

ZPB-T1JF25-T01

ZPB-T1JB50-B01

ZPB-T1JF50-B01

ZPB-T1JB50-N01

ZPB-T1JF50-NO1

ZPB-T1JB50-T01

ZPB-T1JF50-TO1

ZPB-T1JB75-B01

ZPB-T1JF75-B01

ZPB-T1JB75-N01

ZPB-T1JF75-N01

ZPB-T1JB75-T01

ZPB-T1JF75-T01

Width across flats 14
Width across flats 27

1/8 (Rc, NPT, NPTF)

(B)

Applicable pad part no.

ZP2-40H(CL/NT/FT)
ZP2-50H(CL/NT/FT)

For Special

ZP2-3050HW

Dimensions

Part no.

ZPB-T1(JB/JF)25-001

40

107

ZPB-T1(JB/JF)50-1101

75

142

0
o
A
\ |
\[] .
ol = G E/Bushlng
0| ~
M18 x 1.5
< T
~
- 03|
- 3xM3x0.5
218
028

ZPB-T1(JB/JF)75-0101

111

178

+ With three M3 bolts

Buffer assembly part no.

Buffer body Buffer body

(Material: Brass)

(Material: Structural steel)

ZPB-T2JB25-B01

ZPB-T2JF25-B01

ZPB-T2JB25-N01

ZPB-T2JF25-N01

ZPB-T2JB25-T01

ZPB-T2JF25-T01

ZPB-T2JB50-B01

ZPB-T2JF50-B01

ZPB-T2JB50-N01

ZPB-T2JF50-NO1

ZPB-T2JB50-T01

ZPB-T2JF50-T01

ZPB-T2JB75-B01

ZPB-T2JF75-B01

ZPB-T2JB75-N01

ZPB-T2JF75-N01

ZPB-T2JB75-T01

ZPB-T2JF75-T01

Width across flats 14

Width across flats 27

1/8 (Rc, NPT, NPTF)

(B)

0
o
3\
\ \
\L ,
| ~ }\Bushmg
@l = C
M18 x 1.5
< i
To]
~
0
s 23 | 4xM4x0.7
234
245

@
c
o
=
]
L
=
Q.
<

For Film
Adsorption

Applicable pad part no.

ZP2-63H(CL/NT/FT)
ZP2-80H(CL/NT/FT)

| Sponge | Nozzle | Flat |Mu|tistage|

38

Dimensions =) g

Part no. A[B 58

ZPB-T2(JB/JF)25-0101 | 40| 107 <
ZPB-T2(JB/JF)50-101 75 | 142
ZPB-T2(JB/JF)75-101 | 111|178

+ With four M4 bolts

Buffer assembly part no.

Buffer body
(Material: Brass)

Buffer body
(Material: Structural steel)

ZPB-T3JB25-B01

ZPB-T3JF25-B01

ZPB-T3JB25-N01

ZPB-T3JF25-N01

ZPB-T3JB25-T01

ZPB-T3JF25-T01

ZPB-T3JB50-B01

ZPB-T3JF50-B01

ZPB-T3JB50-N01

ZPB-T3JF50-N01

ZPB-T3JB50-T01

ZPB-T3JF50-T01

ZPB-T3JB75-B01

ZPB-T3JF75-B01

ZPB-T3JB75-N01

ZPB-T3JF75-N01

ZPB-T3JB75-T01

ZPB-T3JF75-T01

ZPB-T3JB100-B01

ZPB-T3JF100-B01

ZPB-T3JB100-NO1

ZPB-T3JF100-NO1

ZPB-T3JB100-T01

ZPB-T3JF100-TO1

Width across flats 17
Width across flats 30

1/8 (Re, NPT, NPTF)

(B)

N \ M B
\” f
o| © ‘ 3 Bushing
Ol ©
P
M22 x 1.5
<
Ie]
o
3]
24 | 4xM5x0.8
240
270

Applicable pad part no.

For Panel
Holding

ZP2-100H(CL/NT/FT)
ZP2-125H(CL/NT/FT)

Buffer

I Ball Spline

Construction

Dimensions

Part no. A B
ZPB-T3(JB/JF)25-101 44 | 131
ZPB-T3(JB/JF)50-101 80 | 167
ZPB-T3(JB/JF)75-101 120 | 207
ZPB-T3(JB/JF)100-C101 | 155 | 242

* With four M5 bolts

258 ®

Precautions




Mark-free Pad/High Rigidity .
Mounting Bracket Assembly ZP2 Series

Buffer Assemb'y { + Refer to page 343 for nut tightening torque.]
Buffer assembly part no. ] Applicable pad part no.
Buffer body Width across flats 14 ZP2-40H(CL/NT/FT)
(Material: Aluminum alloy) Width across flats 27 ZP2-50H(CL/NT/FT)
ZPB-X1J25-B01 P ZP2-3050HW
ZPB-X1J25-N01 . T‘” M
ZPB-X1J25-T01 - L11)
12519 3z T
ZPB-X1J50-B01 1]
ZPB-X1J50-N01 & < M18x 1.5
ZPB-X1J50-T01 ] Width across flats 21 !
ZPB-X1J75-B01 oF
ZPB-X1J75-N01 © 4
ZPB-X1J75-T01 N ~ N
Y T Dimensions
T Part no. A | B
= 23 5 4 M3 x 05 ZPB-X1J25-001 | 40 [1395
1/8 (Rc, NPT, NPTF) 1 ZPB-X1J50-101 75 (1745
018 | ZPB-X1J75-0001 | 111 | 2105
028 % With three M3 bolts
Buffer assembly part no. Applicable pad part no.
.Buffer b_ody Width across flats 14 ZP2-63H(CL/NT/FT)
(Material: Aluminum alloy) Width across flats 27 ZP2-80H(CL/NT/FT)
ZPB-X2J25-B01
©
ZPB-X2J25-N01 - Tﬁ” M
ZPB-X2J25-T01 w| + PL 1)
™| = L1
ZPB-X2J50-B01 4 1]
ZPB-X2J50-N01 _ M18x 1.5/ ||
n <
ZPB-X2J50-T01 7 Width across flats 21 ‘
ZPB-X2J75-B01 ]
ZPB-X2J75-N01 0
0 N 0
ZPB-X2J75-T01 S 2 ~ . .
N : Dimensions
0 J Part no. A | B
s o4 4xM4x0.7 ZPB-X2J25-001 | 40 |1395
1/8 (Re. NPT. NPTF 234 ZPB-X2J50-101 75 | 1745
(R, NPT, ) 045 ZPB-X2J75-001 | 111 [2105
* With four M4 bolts
Buffer assembly part no. Applicable pad part no.
Buffer body Width across flats 17 ZP2-100H(CL/NT/FT)
(Material: Aluminum alloy) : ZP2-125H(CL/NT/FT)
ZPB-X3J25-B01 &l Width across flats 30 3
ZPB-X3J25-N01 © :
L1
ZPB-X3J50-B01 @ 1]
ZPB-X3J50-N01 a M22 x 1.5
ZPB-X3J50-T01 T <
ZPB-X3J75-B01 Width across flats 21
ZPB-X3J75-N01 i . .
ZPB-X3J75-T01 3 8 o Dimensions
® - © Part no. A B
ZPB-X3J100-B01 o ‘ ZPB-X3J25-0101 | 44| 165
ZPB-X3J100-N01 J ZPB-X3J50-001 | 80 | 201
4 4 xM5x0.8
ZPB-X3J100-T01 18 (Re, NPTL.NPTRVY - 2 XX ZPB-X3J75-001 | 120 | 241
240 | ZPB-X3J100-001 | 155 | 276
270 + With four M5 bolts

® 259




Mark-free Pad/High Rigidity
Mounting Bracket Assembly

ZP2 Series

Model
Selection

Buffer Assembly { + Refer to page 343 for nut tightening torque.] —
Buffer assembly part no. Applicable pad part no. 'g .5
Buffer body Buffer body Width across flats 14 ZP2-40H(CL/NT/FT) gﬁ
(Material: Brass) (Material: Structural steel)|  \igth across flats 27 ZP2-50H(CL/NT/FT) <§ —é
ZPB-X1JB25-B01 | ZPB-X1JF25-B01 < \ ZP2-3050HW L g
ZPB-X1JB25-N01 | ZPB-X1JF25-NO1 T T
ZPB-X1JB25-T01 | ZPB-X1JF25-T01 9 g . §\Bushin9
ZPB-X1JB50-B01 | ZPB-X1JF50-B01 I
ZPB-X1JB50-NO1 | ZPB-X1JF50-NO1 | o < M18x 1.5 —
ZPB-X1JB50-T01 | ZPB-X1JF50-T01 | ] Width across flats 21 g8
ZPB-X1JB75-B01 | ZPB-X1JF75-B01 g ig g
ZPB-X1JB75-N01 | ZPB-X1JF75-N01 s > w2
ZPB-X1JB75-T01 | ZPB-X1JF75-T01 ¥ § I ~ . . —
‘ Dimensions g
0 o3 Part no. A | B 2
- = lll3xM3x05  ZPB-X1(JB/JF)25-001 | 401395 £
1/8 (Re, NPT, NPTF)/ |g18 ZPB-X1(JB/JF)50-101 75 [ 1745 =
"o ZPB-X1(JBMJF)75-0001 | 111 [210.5 | |jem—
+ With three M3 bolts
Buffer assembly part no. Applicable pad part no. E
MBtUﬁ'erI bgdy Mat _Blug?r bft)dy | stoe Width across flats 14 ZP2-63H(CL/NT/FT)
ZP(B?)?;jézr;fsB)O1 ( ;:;?)'(2.;[;:2[;330‘316) icth aoross Taw & ZP2 SORCLNTT) .
ZPB-X2JB25-N01 | ZPB-X2JF25-N01 2 E
ZPB-X2JB25-T01 | ZPB-X2JF25-T01 P [\H— %> Bushing =
ZPB-X2JB50-B01 | ZPB-X2JF50-B01 s n! rm—
ZPB-X2JB50-NO1 | ZPB-X2JF50-N0O1 | _| M18x 15 ||| 9
ZPB-X2JB50-T01 | ZPB-X2JF50-T01 | &< 0 o g
ZPB-X2JB75-B01 | ZPB-X2JF75-B01 @
ZPB-X2JB75-N01 | ZPB-X2JF75-N01 0 ; _:
ZPB-X2JB75-T01 | ZPB-X2JF75-T01 9|0 ] I ok
~ Dimensions e 5
0 Part no. A | B o8
ha ﬁj 4xM4x0.7  ZPB-X2(JB/JF)25-001 | 40 |1395 <
234 - - 75 | 174,
118 (R NPT.NPTE) | ZPexauBPTSoN i1t 205 | |2 2
* With four M4 bolts a3
ST
S :;J(:;er assembly parltgz;)fér oy | Width across flats 17 Applicable pad part no. - .
(Material: Brass) | (Material: Structural steel)| o 401055 flats 3 ZrotzsreLnTen | |55
ZPB-X3JB25-B01 | ZPB-X3JF25-B01 I ® 2 ;:;
ZPB-X3JB25-N01 | ZPB-X3JF25-NO1 B o
ZPB-X3JB25-T01 | ZPB-X3JF25-T01 g @ B Bushing §_
ZPB-X3JB50-B01 | ZPB-X3JF50-B01 g
ZPB-X3JB50-N01 | ZPB-X3JF50-N01 I albi E
ZPB-X3JB50-T01 | ZPB-X3JF50-T01 | o o  Meex1S
ZPB-X3JB75-B01 | ZPB-X3JF75-B01 Width across flats 21
ZPB-X3JB75-N01 | ZPB-X3JF75-N01 ) )
ZPB-X3JB75-T01 | ZPB-X3JF75-T01 3 ¢ - D'me"s";z: — 5
ZPB-X3JB100-B01 | ZPB-X3JF100-B01 8 o E e ZPB-X3UBF)25-01 | 44| 165
ZPB-X3JB100-N01 | ZPB-X3JF100-NO1 J ZPB-X3(JB/JF)50-C101 80 | 201 -
ZPB-X3JB100-T01 | ZPB-X3JF100-T01 o4 4xM5x08  ZPB-X3(JB/JF)75-0101 | 120 | 241 S
240 | ZPB-X3(JB/JF)100-101 | 155 | 276 2
1/8 (Rc, NPT, NPTF) 270 £

* With four M5 bolts

260 ®




Adapter Assem

bly

Ball Joint Type

Mark-free Pad/High Rigidity ZP2 Series
Mounting Bracket Assembly

Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no.
ZP2-40H(CL/NT/FT) ZP2-40H(CL/NT/FT)
ZP2A-TF1 ZP2-50H(CL/NT/FT) ZP2A-XF1 ZP2-50H(CL/NT/FT)
ZP2-3050HW ZP2-3050HW
M14 x 1 . M14 x 1
Width across flats 19 Rc1/8 Width across flats 19
] Width across flats 19
Width across flats 19 /
-
—| ] 3 AN < 3
ol N i CG‘ 3xM3x0.5 0 ;
e 3 3xM3x0.5
- jm—_ Y w
N /gﬂp ~ & 1:/:,:1 ¢
2l L 5 r ]
ING &) 0
-~ < 2
22 | T
218 M5 x 0.8 02
230 018
* With three M3 bolts 230 = With three M3 bolts
Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no.
ZP2-63H(CL/NT/FT) ZP2-63H(CL/NT/FT)
ZP2A-TF2 ZP2-80H(CL/NT/FT) ZP2A-XF2 ZP2-80H(CL/NT/FT)
Mi6x 1.5 Width across flats 22 M16x 1.5
Width across flats 22 Rc1/8 Width across flats 22
Width across flats 22 0| ©
8 o S
S 5 o
0 = S Rc1/8. /‘
3 0
0 <| 0 :
0| » ® (o)) .
S | o Q| 2 =
> o) p
4xM4x0.7 4xM4x0.7
o4
234
050 * With four M4 bolts * With four M4 bolts
Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no.
ZP2-100H(CL/NT/FT) ZP2-100H(CL/NT/FT)
ZP2A-TF3 ZP2-125H(CL/NT/FT) ZP2A-XF3 ZP2-125H(CL/NT/FT)
M16 x 1.5 Width across flats 22 M16 x 1.5
Width across flats 22 Rc1/8 Width across flats 22\\
Width across flats 22 0| © \\ Vmy
Nl © \\ 3
0 = b Re1/8 41T
©
g [ . 2 g 0 [ T £
& A A Qg - A
= [l - Mgl N
= 2 4xM5x0.8 =) L‘b“ 4xM5x0.8
24 | 24 |
240 240
270 270 % With four M5 bolts

* With four M5 bolts

» 261




Mark-free Pad/High Rigidity
Mounting Bracket Assembly

Ball Joint Type

ZP2 Series

Model
Selection

Buffer Assembly { * Refer to page 343 for nut tightening torque.] ”
Buffer assembly part no. Applicable pad part no. '§ .§
Buffer body Buffer body 2 Width across flats 14 Rc1/8 ZP2-40H(CL/NT/FT) %g

(Material: Brass) (Material: Structural steel) N ZP2-50H(CL/NT/FT) S —&
ZP2B-TF1JB25 ZP2B-TF1JF25 Width across flats 27 M ZP2-3050HW L g
ZP2B-TF1JB50 ZP2B-TF1JF50 Nm
ZP2B-TF1JB75 | ZP2B-TF1JF75 8 Bushing

ol M18 x 1.5
— < Width across flats 13 c
E2
g
0 3xM3x0.5 59
g - "3
0| © o 7 [ Dimensions o
S SN L e Part no. A | B g
02| ZP2B-TF1(JB/JF)25 | 40 138 B
218 ZP2B-TF1(JB/JF)50 | 75| 173 s
530 ZP2B-TF1(JB/JF)75 | 111 | 209 p—
x With three M3 bolts
©
Buffer assembly part no. Width across flats 17 Rci/8 Applicable pad part no. =
Buff_er body _Buffer body ZP2-63H(CL/NT/FT)

(Material: Brass) (Material: Structural steel) S| Width across flats 30 M| ZP2-80H(CL/NT/FT) —
ZP2B-TF24B25 ZP2B-TF2JF25 \ = o
ZP2B-TF2JB50 ZP2B-TF2JF50 o Bushing N
ZP2B-TF2JB75 ZP2B-TF2JF75 © ® =
ZP2B-TF2J4B100 ZP2B-TF2JF100 — e

| M22 x 1.5 ©
< < ‘ oy
Width across flats 17 8
)
4 xM4 x0.7
0 c
b4 Dimensions %8
= 2 i Part no. A| B 9-_ g
e o ZP2B-TF2(JBIJF)25 | 441725 | | S &
p L & ZP2B-TF2(JB/JF)50 | 80 |2085 <
24 | ZP2B-TF2(JB/JF)75 120 | 2485 _
234 ZP2B-TF2(JB/JF)100 | 155 | 2835 g 2
050 % With four M4 bolts a2
I_E T
Buffer assembly part no. Width across flats 17 Rci1/8 Applicable pad part no. .
Buffer body Buffer body “ ZP2-100H(CL/NT/FT) o

(Material: Brass) (Material: Structural steel) Sl Width across flats 30 M| ZP2-125H(CL/NT/FT) =5
ZP2B-TF3JB25 ZP2B-TF3JF25 =i g ;:;
ZP2B-TF3JB50 | ZP2B-TF3JF50 ° < D\ Bushing a
ZP2B-TF3JB75 ZP2B-TF3JF75 © ® L g_
ZP2B-TF3JB100 | ZP2B-TF3JF100 —| 1 3

ol M22 x 1.5 | B
< < 3
Width across flats 17
4 xM5x0.8
0 . .
8 o [ @ Dimensions
RS : Part no. A | B
T ZP2B-TF3(JB/JF)25 44 11735
S &) ZP2B-TF3(JB/JF)50 80 | 209.5 _
- 24 ZP2B-TF3(JB/JF)75 | 120 | 2495 S
240 ZP2B-TF3(JB/JF)100 | 155 |284.5 §
@70 * With four M5 bolts a

262 ®




Mark-free Pad/High Rigidity
Mounting Bracket Assembly

Ball Joint Type

ZP2 Series

Buffer Assembly { * Refer to page 343 for nut tightening torque.]
Buffer assembly part no. ) Applicable pad part no.
Biffarbody Buffer body Width across flats 14 ZP2-40H(CLINT/FT)
(Material: Brass) (Material: Structural steel) ©F  Width across flats 27 ZP2-50H(CL/NT/FT)
ZP2B-XF1JB25 ZP2B-XF1JF25 [ ZP2-3050HW
ZP2B-XF1JB50 | ZP2B-XF1JF50 8 = }B“Sh'”g
ZP2B-XF1JB75 ZP2B-XF1JF75 _ B
M18x 1.5
@ < |
=~ Width across flats 13
M5x0.8 M
To) e 3xM3x0.5
o
B o
™ ;
\I? % | N~
22 @ oS Dimensions
b 5 Part no. A | B
o5 ZP2B-XF1(JB/JF)25 | 40 [1415
018 ZP2B-XF1(JB/JF)50 | 75 |1765
230 ZP2B-XF1(JB/JF)75 | 111 [2125
* With three M3 bolts
Buffer assembly part no. Applicable pad part no.
Buff_er body _Buffer body | Width across flats 17 1" ZP2-63H(CL/NT/FT)
(Material: Brass) (Material: Structural steel) Widith across flats 30 | ZP2-80H(CL/NT/FT)
ZP2B-XF2JB25 | ZP2B-XF2JF25 ol )\ usting
ZP2B-XF2JB50 ZP2B-XF2JF50 0 @
ZP2B-XF2JB75 ZP2B-XF2JF75 —
ZP2B-XF2JB100 | ZP2B-XF2JF100 | oi _ M22 x 1.5
7 Width across flats 22
Rc1/8 | %
LA 4xM4x0.7
0 N
~
Clel Dimensions
Q @ R Part no. A | B
_ 7 § ZP2B-XF2(JB/JF)25 441825
o 2 ZP2B-XF2(JB/JF)50 80 | 2185
24 ZP2B-XF2(JB/JF)75 120 | 258.5
234 ZP2B-XF2(JB/JF)100 | 155 |2935
250 * With four M4 bolts
Buffer assembly part no. _ Applicable pad part no.
Buffer body Buffer body &| Width across flats 17 ZP2-100H(CL/NT/FT)
(Material: Brass) (Material: Structural steel) Width across flats 30 || ZP2-125H(CL/NT/FT)
ZP2B-XF3JB25 ZP2B-XF3JF25 o| ® C 3 Bushing
[T
ZP2B-XF3JB50 ZP2B-XF3JF50 ®
ZP2B-XF3JB75 ZP2B-XF3JF75 o2 %15 1] /
ZP2B-XF3JB100 ZP2B-XF3JF100 AP -
Rc1/8
s
P Width across flats 22,4 4xM5x0.8
“lel q ) 0| Dimensions
&l ] : Part no. A | B
_ S ZP2B-XF3(JB/JF)25 44 /1835
S 2 ZP2B-XF3(JB/JF)50 | 80 |2195
g4 ZP2B-XF3(JB/JF)75 | 120 [259.5
240 ZP2B-XF3(JB/JF)100 | 155 2945
70 + With four M5 bolts

® 263



	Mounting Bracket Assembly



